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‘(REVISED COURSE-OLD PATIERN)
Section : I & 11 ' (2% Hours) [ Total : 80
Section : I, IT, III ( 3 Hours) [Total : 100

N.B.: (1) The Revised Course (Old Pattern) is applicable to the Regular College
Studentsenrolled during the Academic Year 2006-07 to Academic Year
2010-11. They shall attempt Section I and Section II Carrying 80 Marks.
The duration of the paper is 2% hours for such students. (Section III
shall not be attempted by such students ).

The Revised Course (Old Pattern) is also applicable to the Regular
Students Enrolled during the Academic Year 2005-06 or earlier and all
the IDOL students. They shall attempt Section I, IT and III for 100 marks.
The duration of the paper is 3 hours for such students.

(2)  Question No.1 and Question No.2 are Compulsory. Attempt any one
question from Question No.3 to 5 from Section I.

(3)  All Questions in Section II and Section III are Compulsory.

(4) Figures in bracket to the right indicate full marks.

(5) Answer to all the sections shall be written in the same Answer book.

SECTION I | | |
l.  Mr. Drueit Manurkar, Proprietor of DM & Co. provides you the following information (16
for the previous year ended 31st March, 2014.

Profit and Loss Account for the year ended 31st March, 2014

Particulars Rs. Particulars . Rs.

To Salaries 2,635,000 | By Gross Profit b/d , 6,05,000
To Provision for gratuity 83,000 | By Dividend from Co-operative Bank 15,000
To Personal expenses 67,000 | By Old Bad Debts Recovered 68,000
To Interest on capital 42,000 | By Interest of Public Provident Fund A/{ 35,000
To Embezzlement by an employee | 25,000
To Life insurance premium 20,000

| To Depreciation 66,000
To wealth Tax 5,000
To Income tax 73,000
To Net Profit 77,000 A

7,23,000 ) . 7,23,000

Additional Information . ,
(1) Depreciation charged is found to be in excess by Rs.6,000 as per the Income Tax Rule.
(2) Personal expenses include Mediclaim premium Rs. 19,000 paid by cheque.
(3) Old bad debts in respect of which recovery is made were allowed as deduction in the past.
You are required to compute his taxable income for the Assessment Yeat 2014-2015.
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2. (a Select the appropriate option and Rewrite it again _ (6)
(i) Income Tax is a tax on............. ' |
* Profit |

* Income
» Turnover
(i) An....... Company is always resident in India
* Industrial
* Indian
-+ Individual
(iii) Total Income of a person is determined on the basis of ..............
* Residential status in India
« Citizenship in India
* None of the above
(iv) Un-commuted pension received by a Government employee is ...........
* Taxable
* Exempt
* 1/3 Exempt
(v) - Profession Tax deduction is allowed on................
* Accrual Basis '
» Payment Basis
* Both of the above
(vi) Unadjusted loss from the house property can be carried forward and
set off in subsequent years subject to limit of..............

« 7 years
* 8 years
* 9 years
2. (b) Match the columns and rewrite it again | (6)
Column ‘A’ Column ‘B’
« Central Government - Exempt u/s 10(16)
« Artificial Juridical Person - Cannot Exceed Standard rent
« Entertainment allowance - Not a Capital asset
deduction
« Scholarship - Pune University
« Reasonable letting value - Levies tax on Income
. Personal car - Government Employees only
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Chandramani is employed with Reliance Power Co. Ltd as Manager. He has provided (12)
following information about his income earned during the previous year 31st March, 2014.

‘Basic salary Rs. 12,500 p.m., Exgratia Rs. 12,000, Bonus Rs. 6,000, Advance Salary

5.

Rs. 12,000.

Arrears of Salary Rs.20,000, Leave salary Rs. 5,600, Entertainment allowance Rs.
5,000. He received net interest Rs.10,800 on fixed deposits with Bank (TDS Rs.1,200).
He paid Rs. 20,000 by cash to LIC for Pension Fund. - '

He had taken loan from Bank of Maharashtra for higher education of his son who is
pursuing MBBS with Mumbai University. During the year 2013-14 he paid Rs.73,000
as interest on this loan. Compute his taxable income for the Assessment Year 2014-15.

Mr. Sohoni owns two Houses. The details regarding these houses for the year ended (12)
31-3-2014 are as follows :

(a) The first House of which fair rent was Rs 2,35,000 was let out at Rs 25,000
p.m. He paid Rs. 6,000 as interest on money borrowed for construction of
this house and Rs 10,000 as Municipal Taxes .

(b) The Second House of the Annual value of Rs 5,00,000 was occupied by him
for his residence. Municipal Taxes paid by him were Rs 35,000. He has borrowed
Rs 20 lakhs from HDFC Ltd. in April 2008 for acquiring this house property.

- Interest due for the year was Rs 2,50,000 and he has repaid Rs 50,000 out of the

loan amount during the year.

,The details of his other Income during the previous year 2013-2014 are as follows:
Director seating fees received from ABC Itd. Rs. 2,00,000.

Compute the Net Taxable Income of Mr. Sohoni for the prev1ous year ended
2013-14, relevant to Assessment Year 2014-2015.

During the previous year ending on 31st March, 2014. Mr. Sunil sold following assets. (12).

Sr.

No.

Type of Date of Sales|  Sales Cost of | Year Fair Market
Assets of Assets Proceeds | Acquisition | of Purchase Value (Rs.)
Rs. Rs. on 01/04/1981

Agricultural | 15/06/2013 75,00,000 6,00,000 | 1989-90 3,00,000
Land at : ‘
Panvel

Gold 15/09/2013 | 50,00,000 2,00,000 | 1976-77 4,00,000
Ornaments ' '

Personal Car | 15/12/2013 | 1,50,000 50,000 | 1985-86 .Nil
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You are required to calculate the net taxable income under the head capital
‘gain of Mr. Sunil for Assessment Year 2014-15, considering the following
relevant cost of inflation indices.

Financial Year | Costof InflationIndex
1981-82 100
1985-86 133
- 1989-90 172
2013-14 939
. SECTION 1II
6. Answer the following : (10)

(i) Mr.Saxena (who is not a Small Service Provider )provides taxable service
of the value of Rs.19,00,000 during the year ended 31st March, 2015.
Compute the amount of (a) Basic service tax, (b) Secondary Education cess
and (c) Higher Secondary Education cess payable by him.

(ii) M Ltd. rendered taxable services and raised bills for Rs 15,00,000 on various
companies that took part in the exhibition. Compute the amount of (a) Basic Service
tax (b) Secondary Education cess (c) Higher Secondary cess payable by it.
(Ignore small service provider exemption)

(iii) Mr. Pravin has rendered taxable service on 10th October 2014 and raised
invoice for Rs 2,00,000 on 31st October 2014 and received payment on
" 5th November 2014. Compute the Point of taxation of Mr. Pravin.

(iv) Mr. Vipul has rendered taxable service for Rs. 1,00,000 on 15th February
*2015 and raised invoice on 1st March 2015 for Rs 1,00,000. He received
full payment on 31st March 2015. Compute the Point of Taxation of
Mr. Vipul?

(v) Mr.Dillp has agreed as per contract to provide taxable service of Rs 5,00,000
on Ist February 2015 when he raised the invoice and received payment on
1-4-2015. If he actually completed the service on 1-4-2015, what is the date

~of Point of Taxation Mr. Dilip?
OR
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6. (a) Select the appropritate options : 5
(i) Activities relating in ............... are included in definition of service.
» Use of Money
« Conversion of money
+ Both of them _
(ii) Point of Taxation means the point in time when a service shall be
deemed to have been ................. .
* Commenced
* Provided
* Completed
(iii) Transer of Title means change in .............
* Possession
*  Ownership

¢ Custody
(iv) Service means any ........... carried out by a person.
* Business
« Activity
* Survey

(v) Education cess is calculated on ................
‘s Turnover
-+ Service tax
+ Value of service

(b) Match the columns and rewrite it again ‘ (5)
Column ‘A’ Column ‘B’
« Service Tax rate is . - Not Goods
. Farm labour services - Exempted service list
« Outdoor catering - 12.36%
. Telecom services - Non taxable service list
. Transaction in money - Declared service

7. Mrs. Rupali More, a Chartered Accountant based in Jammu has the following (10)
Receipts for the six months ending 30th September, 2013 : _

Particulars Rs.
a. | Fees for Statutory Audit done in Jammu 5,00,000
b.| Fees for Tax Audit done in Pune 20 00,000
c. | Royalty for Books on Taxation received in Jammu 3,70,000
d.| Fees in Foreign Currency from a American Client 3,75,000
e. | Fees for Certification done at Kerala 2,50,000
f. | Fees for Internal Audit of IDBI Bank 2,00,000

Calculate the value of Taxable Services and Service Tax Liability. Assuming that she was -
a small service provider during F.Y.2013-2014.
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OR
7. Mrs. Laxmi Punekar, a works contractor has executed a works contract during (10)
March, 2014. The detail are given below : :

Particulars Rs.
‘a.| Labour charges foexecution of the works 8,00,000
b.| Charges for hire of Machinery 6 00,000
c.| Water, Electricity etc. 5,00,000
d.| Amount paid to sub-contractor for labour charges 2,50,000
e.| Value of goods transferred during execution of work contract | 3,00,000
f. | VAT on above goods ° . 25,000

Compute the Service Tax Payable, assuming that she has not opted for the
composition scheme.

8. Explain whether the following items are ‘Goods’ or ‘not a goods’ as per the provisions  (10)
of the Maharashtra Value Added Tax Act, 2002.

(a) Money

(b) Gold
(c) Shares

(d) Land
(e) Motor Car

(f) Machinery

(g) News Paper

(h) Mobile Handset
(i) Mango Tree

() Radio Set

OR
8. State whether the following transactions are ‘Sale’ or ‘not a sale” under the provisions  (10)
of Maharashtra Value Added Tax Act, 2002.

(1) Sales of scrap :

(2) Pledge of goods

(3) Free sample distribution of goods

(4) Sales of goods by barter system

(5) Sales of shares

(6) Service charges received

(7) Branch transfer of goods

(8) Labour charges received

(9) Supply of food in side canteen

(10) Sale of car by dealer
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9. Mr. Amit is a trader. From the following information find out on which date he will (10)
be liable to pay tax as per the provisions of Maharashtra Value Added Tax Act, .

7

2002. Give Reason for your answer.
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Date Purchases of taxable goods Sales of taxable goods
With in Out of Within
Maharashtra Mabharashtra Maharashtra
Rs. Rs. Rs. '
15/04/2014 30,000 Nil - Nil
20/04/2014 Nil Nil 20,000
25/04/2014 Nil 6,000 Nil
28/04/2014 40,000 Nil Nil
30/04/2014 Nil Nil 90,000
05/05/2014 Nil 5,000 Nil
08/05/2014 | 30,000 Nil Nil
20/05/2014 Nil 20,000 Nil
31/05/2014 |  Nil Nil 40,000

9. Mr. Ganesh provides you the following information regarding his sales and purchases (10)

" for the month of March, 2014.

OR

Particulars Rs.
PURCHASES (excluding VAT)
a] Raw Material (Schedule C@ 5%) 25,000
b] Labour Charges 3,50,000
c] Stationery (Schedule E@ 12.5%) 4,000 |
d] Machinery (Schedule E@ 12.5%) 40,000
e] Raw Material (Schedule E@ 12.5%) 4,50,000
{] OMS Purchases 60,000
SALES (excluding VAT)
Sales of E Schedule goods @ 12.5% 3,50,000

Calculate the sales tax liability of Mr. Ganesh for the month of March, 2014.

J

HT-Con. : 6886-15. [ TURN OVER



QP Code : 10125
8

'SECTION III

10. Prasanjeet Narwade has earned the following income during v‘che previous year (10)
‘ ended 31st March, 2014.

Sr.No. | Particulars Amount Rs.
1 Income from Agriculture in Srilanka 15,000
2 Income accrued in France and received in India 50,000
3 Income earned and received in London 17,000
4 Profit of a hotel business at Sydney 15,000
5 Past untaxed income brought to India 19,000
6 Income from business in U.S.A., controlled from India 16,000

Compute his total income for the Assessment Year 2014-2015 assuming-

(a) He is Resident and Ordinarily Resident

(b) He is Resident and Not Ordinarily Resident

(¢) He is Non-Resident

, OR :
10. Mr.Ramzan Sultani who is an India citizen went for employment to Dubai on (10)

1st April, 2009 and came on a visit to India on 01/07/2013 and left for Dubai on
30/12/2013. Determine his re81dcnt1al status for Assessment Year 2014-2015.

'11.  Answer Any Five of the foll_owmg with reference to Assessment year 2014-2015, (10)
giving reason in brief :

(1) Mukesh has earned Rs.95,000 from a lottery ticket and claims Rs.500 as a
deduction for purchase of lottery ticket. Can he avail this deduction?.

(2) Whether interest on housing loan paid out of India is allowed as deduction U/s 24.

(3) What is the amount of deduction on account of family pension U/s 57 of the

- Income Tax Act, 19617 ' '

(4) Mr. Mangesh Rege purchased a residential flat on 1st January, 2013 and
sold it on 30th December, 2013. He claims the Capital Gain as Long term,
Is he correct?

(5) Omkar has minor child whose income is only Rs.2,500. He wishes to treat
the income as exempt income U/s 10(32). Is he right in doing so?

(6) Dr Chafekar who is full time employee of Rajawadi Hospital receives
professional fees of Rs.70,000 from Rajawadi Hospital and claims exempt
Uls 10 (34). :

(7) Mr. Nandu Spends Rs.25,000 on medical treatment of his physwally
handicapped brother who is dependent on him and claims deduction of
Rs.50,000 U/s 80U. Is he right in claiming the deduction?
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